precision
mountmg
technologies

FORD F-SERIES 3RD BRAKE LIGHT
MOUNTING PLATFORM INSTALLATION GUIDE

2015+ F-150
2017+ F-250TO F-550

FORD F-SERIES 3RD BRAKE LIGHT MOUNTING PLATFORM AS5.7500.013

Product Mounting Disclaimer

Precision Mounting Technologies Ltd (PMT) are not liable under any theory of contract or tort law for any loss, damage, personal injury,
special, incidental or consequential damages for personal injury or other damage of any nature arising directly or indirectly as a result of
the improper installation or use of its products in vehicle or any other application. In order to safely install and use PMT products full
consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brake lines, electrical, drive train or other systems), air-
bags and other safety equipment is required. PMT specifically disclaims any responsibility for the improper use or installation of its
products not consistent with original vehicle manufactures’ specifications and recommendations, PMT product instruction sheets, or
workmanship standards as endorsed through PMT policies and EULA.

515 58th Ave SE, Calgary, Alberta, T2H OP7
' wWwWw ([
PM -PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




PRODUCT VISUAL

515 58th Ave SE, Calgary, Alberta, T2H OP7
wWwWw ( J
-PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




MOUNTING PATTERNS
AMPS O

VESA 75

VESA 100
ECCO 11” MINIBAR

ECCO 15" MINIBAR O
CODE 3 ARCH BEACON O
CODE 3 SB48 BEACON O
ECCO BEACONS O
PANORAMA ANTENNA’S O
i )

515 58th Ave SE, Calgary, Alberta, T2H OP7
wWwWw ( J
-PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




PARTS & HARDWARE DESCRIPTION

AS5.1500.013

ITEM NO.

DESCRIPTION

QUANTITY

Mounting platform

Sandwich plate

PMT logo plate

Sealing foam

Rubber bumper

6-32 X 3/4 Hex head screw

6-32 X 3/8 Hex head screw

1/4 Nylok nut

Ol | N|J|O|JO |~ ]|WIDN]|PF

6/32 Nylok nut

NININININ|IFP|IRP]IFP]|PR

WWW.PRECISIONMOUNTS.COM

515 58th Ave SE, Calgary, Alberta, T2H OP7
1-888-869-7652 | info@precisionmounts.com




INSTALLATION INSTRUCTIONS

Tools and hardware required:
» Imperial socket sets and ratchet
* Imperial allen keys

Step 1
Remove the OEM 3" brake light by removing the 4 screws, highlighted in blue below.

Step 2
Remove the wiring harness from the 3rd brake light

Step 3
Insert the sandwich plate be rotating and sliding the plate into the center cutout.

515 58th Ave SE, Calgary, Alberta, T2H OP7
wWwWw ([
-PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




INSTALLATION INSTRUCTIONS

Step 4
Attach any accessories to the mounting platform.

Step 5
Place the mounting platform on the roof and secure the sandwich plate to the platform
with the supplied 6-32 x 3/4 screws.

Step 6
Reattach the brake light harness to the OEM 3rd brake light. Make sure the electrical
connection is secure and the wiring harness gromet is pushed back into the original hole.

Step 7
Reattach the 4 screws removed in step 1.

515 58th Ave SE, Calgary, Alberta, T2H OP7
[ J
PM ' WWW.PRECISIONMOUNTS.COM 1-888-869-7652 | info@precisionmounts.com




	Slide 1
	Slide 2
	Slide 3
	Slide 4: PARTS & HARDWARE DESCRIPTION AS5.t500.013
	Slide 5: INSTALLATION INSTRUCTIONS
	Slide 6: INSTALLATION INSTRUCTIONS

